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3. Corrections to RLC test cases for Cat-M1 UEs

Change 1 – Correction to function ‘fl_EUTRA_7_2_3_10_TestBody’

	Function name
	fl_EUTRA_7_2_3_10_TestBody

	Reason for change
	In case of CAT-M1 operation for downlink data the MPDCCH and PDSCH are not scheduled in the same time frame as in case of legacy LTE operation.

Therefore the current timing for data scheduled at steps 1, 3, 6, 6A, 7A, 9, 10, 10A, 11A, 14, 21 and 24 on subframes 4, 5, 6 and 7 can cause problems with CAT-M1 UEs.

	Summary of change
	Scheduled timing for data sent at steps 1, 3, 6, 6A, 7A, 9, 10, 10A, 11A, 14, 21 and 24 on subsequent frames to allow CAT-M1 operation.

	TTCN module
	RLC_AM_Testcases.ttcn

	MCC160 Comment
	


Before change
	... 

  function fl_EUTRA_7_2_3_10_TestBody(inout RLC_SS_State p_RLC_Rec)

    runs on EUTRA_PTC

  { // @sic R5-102147 sic@ @sic R5s100116 sic@ @sic R5s100142 sic@ @sic R5-103803 sic@ @sic R5s100224 sic@

    // @sic R5s100279 sic@ @sic R5-105016 sic@

    var integer i;

    var RLC_DataField_Type v_RLC_Data1;

    var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;

    var integer v_Duration;

    var SubFrameTiming_Type v_Timing;

    var SubFrameTiming_Type v_SubFrameTimingTa;

    var SubFrameTiming_Type v_SubFrameTimingTb;

    var SubFrameTiming_Type v_SubFrameTimingTc;

    var SubFrameTiming_Type v_SubFrameTimingT1;

    var SubFrameTiming_Type v_SubFrameTimingT2;

    var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode;

    var integer v_Subframe := 0;
    var DRB_COMMON_IND v_ReceivedAsp;

    var SYSTEM_IND v_ReceivedSysAsp;

    var template (value) RLC_Status_NACK_List_Type v_NACK_List;

    var template (value) RLC_Status_NACK_List_Type v_NACK_List1;

    var template (value) RLC_Status_NACK_List_Type v_NACK_List2;

    var template (present) RLC_Status_Padding_Type v_Padding_1bit_Any := '?'B;

    var template (present) RLC_Status_Padding_Type v_Padding_5bits_Any := '?????'B;

    timer t_WatchDog := 5.0;

    //PDCP SDUs of this size will be built, appended to a PDCP header,

    //and then used as RLC SDUs

    p_RLC_Rec.TxDataSize := 98;

    // determine RAT to make the timing correct later on

    v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);

    // generate 12 RLC SDUs = PDCP PDUs for transmission

    for (i := 0; i < 12; i:= i + 1) {

      f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data

      v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12), p_RLC_Rec.RLC_Data);

      p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));

      p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);

    }

    //@siclog "Step 0" siclog@

    // The SS stops the UL grant transmission.

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now);

    //@siclog "Step 1" siclog@

    // The SS transmits 4 AMD PDUs with SN=0, 1, 2, and 4 on DRB1.

    // The SS sets the P field of all the AMD PDUs to 0. Record time TA when the AMD PDU with SN=4 is sent.

    //wait for 100ms for sync both in case of FDD and TDD

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU1);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU2);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU3);

    p_RLC_Rec.AM_VTS := 4;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU5);

    v_SubFrameTimingTa := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@

    //@siclog "Step 1A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants (UL grant allocation type 2) of size 840 bits.

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60); // @sic R5s120345, R5-121869 sic@

    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo(v_Timing),

                                              15, 3, 10, 3);  // Imcs = 15 -> Itbs = 14  @sic R5s110394, R5-156156 sic@

    //@siclog "Step 1B" siclog@

    // The UE transmits RLC SDU#1.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU1);

    //@siclog "Step 1C" siclog@

    // The UE transmits RLC SDU#2.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU2);

    //@siclog "Step 1D" siclog@

    // The UE transmits RLC SDU#3.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);

    //@siclog "Step 1E" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 1F" siclog@

    // The SS starts the UL default grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    //@siclog "Step 2" siclog@

    // Check 1: Does the UE transmit a Status Report with NACK_SN=3 and ACK_SN=5?

    // Record time TB

    // Check 2: (TB - TA) = t_Reordering

    p_RLC_Rec.AM_VTA := 5;

    v_NACK_List := cr_NACK_List (3, tsc_E2_NoSO_Follows, omit);

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp

          {

            v_SubFrameTimingTb := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTa, v_SubFrameTimingTb);

            if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )

              {

                f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 2");

              }

            else

              {

                f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2");

              };

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 2");

          }

      } // alt

    //@siclog "Step 3" siclog@

    // 100 ms after the Status Report is received at Step 2, the SS transmits 4 AMD PDUs with SN=5, 6, 8 and 9 on DRB 1.

    // The SS sets the P field of all the AMD PDUs to 0.

    v_Timing := v_SubFrameTimingTb;

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 100);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU6);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU7);

    p_RLC_Rec.AM_VTS := 8;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU9);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU10);

    //@siclog "Step 3A void" siclog@

    //@siclog "Step 3B" siclog@

    // Check 1: Does the UE transmit a Status Report with NACK_SN=3, ACK_SN=7?

    // Record time TC

    // Check 2: (TC - TB) = t_StatusProhibit

    p_RLC_Rec.AM_VTA := 7;

    v_NACK_List := cr_NACK_List (3,

                                 tsc_E2_NoSO_Follows,

                                 omit);

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp  // @sic R5s100386 sic@

          {

            v_SubFrameTimingTc := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTb, v_SubFrameTimingTc);

            if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )

              {

                f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 3A");

              }

            else

              {

                f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 3A");

              };

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 3A");

          }

      } // alt

    //@siclog "Step 3C void" siclog@

    //@siclog "Step 4" siclog@

    // Check: does the UE transmit a Status Report with NACK_SN=3, NACK_SN=7 and ACK_SN=10?

    // This will happen after t_StatusProhibit which has already been checked

    p_RLC_Rec.AM_VTA := 10;

    v_NACK_List := cr_NACK_List_2NACKs(3,

                                       tsc_E2_NoSO_Follows,

                                       omit,

                                       7,

                                       tsc_E2_NoSO_Follows,

                                       omit);

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_1bit_Any ))) -> value v_ReceivedAsp

          {

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 4");

          }

      } // alt

    //@siclog "Step 4A" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );

    //@siclog "Step 5 void" siclog@

    //@siclog "Step 6" siclog@

    // After 300 ms the SS transmits 3 AMD PDUs with SN=3 and SN=7 on DRB 1.

    // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);  // @sic R5s110019, R5s110474 sic@

    p_RLC_Rec.AM_VTS := 3;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU4);

    p_RLC_Rec.AM_VTS := 7;

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_Poll,

                 tsc_RLC_SDU8);

    //@siclog "Step 6A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 7A" siclog@

    // In the next valid subframe following the one scheduled in step 6A the SS  assigns 7 UL grants (UL grant allocation type 2) of size 840 bits.

    // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                              15, 3, 10, 7);  // Imcs = 15 -> Itbs = 14  @sic R5s110394, R5-156156 sic@

    //@siclog "Step 7" siclog@

    // Check: does the UE transmit a Status Report with no NACK_SN and ACK_SN = 10?

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA ) ) )

          {

            t_WatchDog.stop;

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 7");

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 7");

          }

      } // alt

    //@siclog "Step 7B" siclog@

    // The UE transmits RLC SDU#4.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU4);

    //@siclog "Step 7C" siclog@

    // The UE transmits RLC SDU#5.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU5);

    //@siclog "Step 7D" siclog@

    // The UE transmits RLC SDU#6.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU6);

    //@siclog "Step 7E" siclog@

    // The UE transmits RLC SDU#7.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU7);

    //@siclog "Step 7F" siclog@

    // The UE transmits RLC SDU#8.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU8);

    //@siclog "Step 7G" siclog@

    // The UE transmits RLC SDU#9.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU9);

    //@siclog "Step 7H" siclog@

    // The UE transmits RLC SDU#10.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU10);

    //@siclog "Step 7I" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 8 void" siclog@

    //@siclog "Step 9" siclog@

    // After 300 ms the SS transmits an AMD PDU with SN=10 and P=0, and an AMD PDU with SN=12 and P=1, on DRB1.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);

    v_SubFrameTimingT1 := v_Timing;

    p_RLC_Rec.AM_VTS := 10;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 0, 22);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_StartOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 12;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 82, 18);  // @sic R5s110012 sic@

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_Poll,

                   tsc_FI_EndOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 10" siclog@

    // Within t_Reordering/2 ms after Step 9, the SS transmits an AMD PDU with SN=11 and P=0 on DRB1.

    // 60 ms scheduled is less than 150/2 = t_Reordering/2, same subframe as before

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
    p_RLC_Rec.AM_VTS := 11;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 22, 60);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 10A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 11A" siclog@

    // The SS assigns 1 UL grant (UL grant allocation type 2) of size 840 bits.

    // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   15, 3);  // Imcs = 15 -> Itbs = 14  @sic R5s110394 sic@

    //@siclog "Step 9A" siclog@

    // Check: Does the UE transmit a scheduling request within t-Reordering / 2 ms?

    // The trigger will be initiated after 300 ms (see step 9)

    f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Enable);

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?)) -> value v_ReceivedSysAsp;

    f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Disable);

    v_SubFrameTimingT2 := v_ReceivedSysAsp.Common.TimingInfo.SubFrame;

    v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingT1, v_SubFrameTimingT2);

    // sending has been scheduled 300 ms in advance

    // SR would mean that UE reacts upon transmission in step 10

    if ( v_Duration < 60 )

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 9A");

      };

    //@siclog "Step 11" siclog@

    // Check: does the UE transmit a Status Report with no NACK_SN and ACK_SN=13?

    p_RLC_Rec.AM_VTA := 13;

    f_RxSTATUS_PDU_ACK (p_RLC_Rec);

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 11");

    //@siclog "Step 11B" siclog@

    // The UE transmits RLC SDU#11.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU11);

    //@siclog "Step 11C" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 12 void" siclog@

    //@siclog "Step 13 void" siclog@

    //@siclog "Step 14" siclog@

    // The SS transmits an AMD PDU with SN=13 and P=0, and an AMD PDU with SN=19 and P=1, on DRB1.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300);

    p_RLC_Rec.AM_VTS := 13;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 0, 22);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_StartOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 19;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 82, 18);// @sic R5s110012 sic@

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_Poll,

                   tsc_FI_EndOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 15" siclog@

    // The SS waits for t-Reordering ms to ensure expiry.

    //@siclog "Step 16 void" siclog@

    //@siclog "Step 17" siclog@

    // 60 ms after step 15 the SS assigns an UL grant (UL grant allocation type 3) of size 56 bits. (Note 3)

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, float2int((0.06 + p_RLC_Rec.t_Reordering)*1000.0) );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   2, 2); // Imcs = 2 -> Itbs = 1  @sic R5-110718 sic@

    //@siclog "Step 18" siclog@

    // Check: Does the UE transmit a Status Report with ACK_SN=16 and 2 NACK_SNs: 14 and 15?

    v_NACK_List1 := cr_NACK_List_2NACKs(14,

                                        tsc_E2_NoSO_Follows,

                                        omit,

                                        15,

                                        tsc_E2_NoSO_Follows,

                                        omit);

    v_NACK_List2 := cr_NACK_List_4NACKs_NoSOs(14, 15, 16, 17);

    t_WatchDog.start;

    alt // @sic R5-110718 sic@ @sic R5s110168 change 4.2 sic@

      {

        [] DRB.receive(car_DRB1_RLCStatusInd(eutra_Cell1,

                                             cr_STATUS_PDU_Nack(16,

                                                                v_NACK_List1,

                                                                v_Padding_1bit_Any))) -> value v_ReceivedAsp

          {

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 18");

          }

        [] DRB.receive(car_DRB1_RLCStatusInd(eutra_Cell1,

                                             cr_STATUS_PDU_Nack(18,

                                                                v_NACK_List2,

                                                                v_Padding_1bit_Any))) -> value v_ReceivedAsp

          {

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 18");

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 4");

          }

      } // alt

    t_WatchDog.stop;

    //@siclog "Step 19 void" siclog@

    //@siclog "Step 20 void" siclog@

    //@siclog "Step 21" siclog@

    // The SS transmits an AMD PDU with SN=14 and P=1 on DRB1.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);  // @sic R5s110019, @sic R5s110474 sic@

    p_RLC_Rec.AM_VTS := 14;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 22, 20);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_Poll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 22" siclog@

    // 60 ms after step 21 the SS assigns an UL grant grant (UL grant allocation type 3) of size 72 bits. (Note 4)

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 60 );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   2, 2);

    //@siclog "Step 24" siclog@

    // 60 ms after step 22 the SS transmits 4 AMD PDU with SN=15, 16, 17, 18.

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 60 );

    p_RLC_Rec.AM_VTS := 15;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 42, 10);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 16;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 52, 10);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 17;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 62, 10);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 18;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 72, 10);

    v_Subframe := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 3);
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 24A" siclog@

    // 60 ms after step 24  the SS assigns 1 UL grant (UL grant allocation type 2) of size 840 bits. (Note 1)

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 60 );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   15, 3); // @sic R5s110394 sic@

    //@siclog "Step 23" siclog@

    // Check: does the UE transmit a Status Report with ACK_SN=20 and 4 NACK_SNs: 15, 16, 17 and 18?

    p_RLC_Rec.AM_VTA := 20;

    v_NACK_List := cr_NACK_List_4NACKs_NoSOs(15, 16, 17, 18);

    f_RxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_1bit_Any);

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 23");

    //@siclog "Step 25" siclog@

    // The UE loopbacks the complete RLC SDU.

    f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU12);

    //@siclog "Step 26" siclog@

    // The SS transmits a STATUS PDU

    f_TxSTATUS_PDU(p_RLC_Rec);

  } // fl_EUTRA_7_2_3_10_TestBody

...


After change
	...

  function fl_EUTRA_7_2_3_10_TestBody(inout RLC_SS_State p_RLC_Rec)

    runs on EUTRA_PTC

  { // @sic R5-102147 sic@ @sic R5s100116 sic@ @sic R5s100142 sic@ @sic R5-103803 sic@ @sic R5s100224 sic@

    // @sic R5s100279 sic@ @sic R5-105016 sic@

    var integer i;

    var RLC_DataField_Type v_RLC_Data1;

    var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;

    var integer v_Duration;

    var SubFrameTiming_Type v_Timing;

    var SubFrameTiming_Type v_SubFrameTimingTa;

    var SubFrameTiming_Type v_SubFrameTimingTb;

    var SubFrameTiming_Type v_SubFrameTimingTc;

    var SubFrameTiming_Type v_SubFrameTimingT1;

    var SubFrameTiming_Type v_SubFrameTimingT2;

    var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode;

    var integer v_Subframe := 4; // @sic R5s170572 cat M1 timing sic@
    var DRB_COMMON_IND v_ReceivedAsp;

    var SYSTEM_IND v_ReceivedSysAsp;

    var template (value) RLC_Status_NACK_List_Type v_NACK_List;

    var template (value) RLC_Status_NACK_List_Type v_NACK_List1;

    var template (value) RLC_Status_NACK_List_Type v_NACK_List2;

    var template (present) RLC_Status_Padding_Type v_Padding_1bit_Any := '?'B;

    var template (present) RLC_Status_Padding_Type v_Padding_5bits_Any := '?????'B;

    timer t_WatchDog := 5.0;

    //PDCP SDUs of this size will be built, appended to a PDCP header,

    //and then used as RLC SDUs

    p_RLC_Rec.TxDataSize := 98;

    // determine RAT to make the timing correct later on

    v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);

    // generate 12 RLC SDUs = PDCP PDUs for transmission

    for (i := 0; i < 12; i:= i + 1) {

      f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data

      v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12), p_RLC_Rec.RLC_Data);

      p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));

      p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);

    }

    //@siclog "Step 0" siclog@

    // The SS stops the UL grant transmission.

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now);

    //@siclog "Step 1" siclog@

    // The SS transmits 4 AMD PDUs with SN=0, 1, 2, and 4 on DRB1.

    // The SS sets the P field of all the AMD PDUs to 0. Record time TA when the AMD PDU with SN=4 is sent.

    //wait for 100ms for sync both in case of FDD and TDD

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1); // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU3);

    p_RLC_Rec.AM_VTS := 4;

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU5);

    v_SubFrameTimingTa := f_EUTRA_TimingInfoSubframeOffsetAdjust (v_Timing,

                                                                  v_Subframe); // @sic R5s110785 sic@

    //@siclog "Step 1A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 3 UL grants (UL grant allocation type 2) of size 840 bits.

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60); // @sic R5s120345, R5-121869 sic@

    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo(v_Timing),

                                              15, 3, 10, 3);  // Imcs = 15 -> Itbs = 14  @sic R5s110394, R5-156156 sic@

    //@siclog "Step 1B" siclog@

    // The UE transmits RLC SDU#1.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU1);

    //@siclog "Step 1C" siclog@

    // The UE transmits RLC SDU#2.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU2);

    //@siclog "Step 1D" siclog@

    // The UE transmits RLC SDU#3.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU3);

    //@siclog "Step 1E" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 1F" siclog@

    // The SS starts the UL default grant transmission

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    //@siclog "Step 2" siclog@

    // Check 1: Does the UE transmit a Status Report with NACK_SN=3 and ACK_SN=5?

    // Record time TB

    // Check 2: (TB - TA) = t_Reordering

    p_RLC_Rec.AM_VTA := 5;

    v_NACK_List := cr_NACK_List (3, tsc_E2_NoSO_Follows, omit);

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp

          {

            v_SubFrameTimingTb := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTa, v_SubFrameTimingTb);

            if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_Reordering * 1000.0) ) )

              {

                f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 2");

              }

            else

              {

                f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 2");

              };

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 2");

          }

      } // alt

    //@siclog "Step 3" siclog@

    // 100 ms after the Status Report is received at Step 2, the SS transmits 4 AMD PDUs with SN=5, 6, 8 and 9 on DRB 1.

    // The SS sets the P field of all the AMD PDUs to 0.

    v_Timing := v_SubFrameTimingTb;

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 100); // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU6);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU7);

    p_RLC_Rec.AM_VTS := 8;

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU9);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU10);

    //@siclog "Step 3A void" siclog@

    //@siclog "Step 3B" siclog@

    // Check 1: Does the UE transmit a Status Report with NACK_SN=3, ACK_SN=7?

    // Record time TC

    // Check 2: (TC - TB) = t_StatusProhibit

    p_RLC_Rec.AM_VTA := 7;

    v_NACK_List := cr_NACK_List (3,

                                 tsc_E2_NoSO_Follows,

                                 omit);

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_5bits_Any ))) -> value v_ReceivedAsp  // @sic R5s100386 sic@

          {

            v_SubFrameTimingTc := v_ReceivedAsp.Common.TimingInfo.SubFrame;

            v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingTb, v_SubFrameTimingTc);

            if ( f_EUTRA_SubFrameTimingCheckDuration( eutra_Cell1, l2Timer, v_Duration, float2int(p_RLC_Rec.t_StatusProhibit * 1000.0) ) )

              {

                f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 3A");

              }

            else

              {

                f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 3A");

              };

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 3A");

          }

      } // alt

    //@siclog "Step 3C void" siclog@

    //@siclog "Step 4" siclog@

    // Check: does the UE transmit a Status Report with NACK_SN=3, NACK_SN=7 and ACK_SN=10?

    // This will happen after t_StatusProhibit which has already been checked

    p_RLC_Rec.AM_VTA := 10;

    v_NACK_List := cr_NACK_List_2NACKs(3,

                                       tsc_E2_NoSO_Follows,

                                       omit,

                                       7,

                                       tsc_E2_NoSO_Follows,

                                       omit);

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                   v_NACK_List,

                                                                   v_Padding_1bit_Any ))) -> value v_ReceivedAsp

          {

            t_WatchDog.stop;

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 4");

          }

      } // alt

    //@siclog "Step 4A" siclog@

    // The SS stops the UL default grant transmission

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync ( eutra_Cell1, cs_TimingInfo_Now );

    //@siclog "Step 5 void" siclog@

    //@siclog "Step 6" siclog@

    // After 300 ms the SS transmits 3 AMD PDUs with SN=3 and SN=7 on DRB 1.

    // The SS sets the P field of all the AMD PDUs to 0 except for that of the AMD PDU with SN=9.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);  // @sic R5s110019, R5s110474, R5s170572 cat M1 timing sic@
    p_RLC_Rec.AM_VTS := 3;

    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_NoPoll,

                 tsc_RLC_SDU4);

    p_RLC_Rec.AM_VTS := 7;

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_Poll,

                 tsc_RLC_SDU8);

    //@siclog "Step 6A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60); // @sic R5s170572 cat M1 timing sic@
    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 7A" siclog@

    // In the next valid subframe following the one scheduled in step 6A the SS  assigns 7 UL grants (UL grant allocation type 2) of size 840 bits.

    // v_Timing.Subframe.Number of 4 of the next SFN is employed

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_EUTRA_PeriodicCyclicULGrantTransmission(eutra_Cell1,

                                              cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                              15, 3, 10, 7);  // Imcs = 15 -> Itbs = 14  @sic R5s110394, R5-156156 sic@

    //@siclog "Step 7" siclog@

    // Check: does the UE transmit a Status Report with no NACK_SN and ACK_SN = 10?

    t_WatchDog.start;

    alt // @sic R5-100050 sic@

      {

        [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA ) ) )

          {

            t_WatchDog.stop;

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 7");

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 7");

          }

      } // alt

    //@siclog "Step 7B" siclog@

    // The UE transmits RLC SDU#4.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU4);

    //@siclog "Step 7C" siclog@

    // The UE transmits RLC SDU#5.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU5);

    //@siclog "Step 7D" siclog@

    // The UE transmits RLC SDU#6.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU6);

    //@siclog "Step 7E" siclog@

    // The UE transmits RLC SDU#7.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU7);

    //@siclog "Step 7F" siclog@

    // The UE transmits RLC SDU#8.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU8);

    //@siclog "Step 7G" siclog@

    // The UE transmits RLC SDU#9.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_NoPoll, tsc_RLC_SDU9);

    //@siclog "Step 7H" siclog@

    // The UE transmits RLC SDU#10.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU10);

    //@siclog "Step 7I" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 8 void" siclog@

    //@siclog "Step 9" siclog@

    // After 300 ms the SS transmits an AMD PDU with SN=10 and P=0, and an AMD PDU with SN=12 and P=1, on DRB1.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300); // @sic R5s170572 cat M1 timing sic@
    v_SubFrameTimingT1 := v_Timing;

    p_RLC_Rec.AM_VTS := 10;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 0, 22);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_StartOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 12;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 82, 18);  // @sic R5s110012 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_Poll,

                   tsc_FI_EndOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 10" siclog@

    // Within t_Reordering/2 ms after Step 9, the SS transmits an AMD PDU with SN=11 and P=0 on DRB1.

    // 60 ms scheduled is less than 150/2 = t_Reordering/2, same subframe as before

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    p_RLC_Rec.AM_VTS := 11;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU11], 22, 60);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 10A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns 1 UL grant (UL grant allocation type 3) of size 40 bits.

    // v_Timing.Subframe.Number of 4 is valid for UL grant transmission

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60); // @sic R5s170572 cat M1 timing sic@
    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   3, 1);

    //@siclog "Step 11A" siclog@

    // The SS assigns 1 UL grant (UL grant allocation type 2) of size 840 bits.

    // v_Timing.Subframe.Number of 6 (FDD) resp. 9 (TDD) is valid for UL grant transmission

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                   15, 3);  // Imcs = 15 -> Itbs = 14  @sic R5s110394 sic@

    //@siclog "Step 9A" siclog@

    // Check: Does the UE transmit a scheduling request within t-Reordering / 2 ms?

    // The trigger will be initiated after 300 ms (see step 9)

    f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Enable);

    SYSIND.receive(car_SchedulingReq_IND (eutra_Cell1, ?)) -> value v_ReceivedSysAsp;

    f_SS_ConfigSchedulingRequestIndMode(eutra_Cell1, tsc_L1Mac_IndicationMode_Disable);

    v_SubFrameTimingT2 := v_ReceivedSysAsp.Common.TimingInfo.SubFrame;

    v_Duration := f_EUTRA_NB_SubFrameTimingDuration( v_SubFrameTimingT1, v_SubFrameTimingT2);

    // sending has been scheduled 300 ms in advance

    // SR would mean that UE reacts upon transmission in step 10

    if ( v_Duration < 60 )

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 9A");

      };

    //@siclog "Step 11" siclog@

    // Check: does the UE transmit a Status Report with no NACK_SN and ACK_SN=13?

    p_RLC_Rec.AM_VTA := 13;

    f_RxSTATUS_PDU_ACK (p_RLC_Rec);

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 11");

    //@siclog "Step 11B" siclog@

    // The UE transmits RLC SDU#11.

    f_RxAMD_SDU (p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU11);

    //@siclog "Step 11C" siclog@

    // The SS transmits a STATUS PDU.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 12 void" siclog@

    //@siclog "Step 13 void" siclog@

    //@siclog "Step 14" siclog@

    // The SS transmits an AMD PDU with SN=13 and P=0, and an AMD PDU with SN=19 and P=1, on DRB1.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_GetNextSendOccasion(eutra_Cell1, 300); // @sic R5s170572 cat M1 timing sic@
    p_RLC_Rec.AM_VTS := 13;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 0, 22);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_StartOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 19;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 82, 18);// @sic R5s110012 sic@

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_Poll,

                   tsc_FI_EndOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 15" siclog@

    // The SS waits for t-Reordering ms to ensure expiry.

    //@siclog "Step 16 void" siclog@

    //@siclog "Step 17" siclog@

    // 60 ms after step 15 the SS assigns an UL grant (UL grant allocation type 3) of size 56 bits. (Note 3)

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, float2int((0.06 + p_RLC_Rec.t_Reordering)*1000.0) );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   2, 2); // Imcs = 2 -> Itbs = 1  @sic R5-110718 sic@

    //@siclog "Step 18" siclog@

    // Check: Does the UE transmit a Status Report with ACK_SN=16 and 2 NACK_SNs: 14 and 15?

    v_NACK_List1 := cr_NACK_List_2NACKs(14,

                                        tsc_E2_NoSO_Follows,

                                        omit,

                                        15,

                                        tsc_E2_NoSO_Follows,

                                        omit);

    v_NACK_List2 := cr_NACK_List_4NACKs_NoSOs(14, 15, 16, 17);

    t_WatchDog.start;

    alt // @sic R5-110718 sic@ @sic R5s110168 change 4.2 sic@

      {

        [] DRB.receive(car_DRB1_RLCStatusInd(eutra_Cell1,

                                             cr_STATUS_PDU_Nack(16,

                                                                v_NACK_List1,

                                                                v_Padding_1bit_Any))) -> value v_ReceivedAsp

          {

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 18");

          }

        [] DRB.receive(car_DRB1_RLCStatusInd(eutra_Cell1,

                                             cr_STATUS_PDU_Nack(18,

                                                                v_NACK_List2,

                                                                v_Padding_1bit_Any))) -> value v_ReceivedAsp

          {

            f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 18");

          }

        [] t_WatchDog.timeout

          {

            f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "WatchDog timeout at Step 4");

          }

      } // alt

    t_WatchDog.stop;

    //@siclog "Step 19 void" siclog@

    //@siclog "Step 20 void" siclog@

    //@siclog "Step 21" siclog@

    // The SS transmits an AMD PDU with SN=14 and P=1 on DRB1.

    // t-StatusProhibit = 300 ms => 30 frames

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 300);  // @sic R5s110019, @sic R5s110474, R5s170572 cat M1 timing sic@
    p_RLC_Rec.AM_VTS := 14;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 22, 20);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_Poll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 22" siclog@

    // 60 ms after step 21 the SS assigns an UL grant grant (UL grant allocation type 3) of size 72 bits. (Note 4)

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 60 );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   2, 2);

    //@siclog "Step 24" siclog@

    // 60 ms after step 22 the SS transmits 4 AMD PDU with SN=15, 16, 17, 18.

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 60 ); // @sic R5s170572 cat M1 timing sic@
    p_RLC_Rec.AM_VTS := 15;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 42, 10);

    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 16;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 52, 10);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 17;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 62, 10);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    p_RLC_Rec.AM_VTS := 18;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU12], 72, 10);

    v_Timing.SFN.Number := (v_Timing.SFN.Number + 1) mod 1024; // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_OnePDU(p_RLC_Rec,

                   cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_Subframe, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                   tsc_P_NoPoll,

                   tsc_FI_MiddleOfSDU,

                   v_RLC_Data1);

    //@siclog "Step 24A" siclog@

    // 60 ms after step 24  the SS assigns 1 UL grant (UL grant allocation type 2) of size 840 bits. (Note 1)

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 60 );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   15, 3); // @sic R5s110394 sic@

    //@siclog "Step 23" siclog@

    // Check: does the UE transmit a Status Report with ACK_SN=20 and 4 NACK_SNs: 15, 16, 17 and 18?

    p_RLC_Rec.AM_VTA := 20;

    v_NACK_List := cr_NACK_List_4NACKs_NoSOs(15, 16, 17, 18);

    f_RxSTATUS_PDU_NACK( p_RLC_Rec, v_NACK_List, v_Padding_1bit_Any);

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 23");

    //@siclog "Step 25" siclog@

    // The UE loopbacks the complete RLC SDU.

    f_RxAMD_SDU(p_RLC_Rec, tsc_P_Poll, tsc_RLC_SDU12);

    //@siclog "Step 26" siclog@

    // The SS transmits a STATUS PDU

    f_TxSTATUS_PDU(p_RLC_Rec);

  } // fl_EUTRA_7_2_3_10_TestBody 
...


Change 2 – Correction to function ‘fl_EUTRA_7_2_3_18_TestBody’
	Function name
	fl_EUTRA_7_2_3_18_TestBody()

	Reason for change
	In case of CAT-M1 operation for downlink data the MPDCCH and PDSCH are not scheduled in the same time frame as in case of legacy LTE operation.

Therefore the current timing for data scheduled at steps 4, 5, 9, 11, 15, 16, 17, 20, 22, 23, 27, 29 and 31 on subframes 4, 5, 6 and 7 can cause problems with CAT-M1 UEs.

Segmentation and corresponding UL grant allocation are not suitable for CAT-M1 UEs. 

	Summary of change
	Scheduled timing for data sent at steps 4, 5, 9, 11, 15, 16, 17, 20, 22, 23, 27, 29 and 31 on subsequent frames to allow CAT-M1 operation.

Segmentation and UL grant allocation was implemented as per prose CR on this raised at RAN5#76 and agreed as R5-174485.

	TTCN module
	RLC_AM_Testcases.ttcn

	MCC160 Comment
	


Before change
	… 

  function f_TC_7_2_3_18_EUTRA()

    runs on EUTRA_PTC

  { // @sic R5s100039 sic@

    var RLC_SS_State v_RLC_Rec;

    //EUTRA initialisation

    f_EUTRA_Init(c1);

    //RLC global initialisation

    f_InitRLC_Record(v_RLC_Rec, AM_Mode);

    //RLC test case specific initialisation

    v_RLC_Rec.UL_PDCP_SDU_size := 98;
    // Cell configuration, with one AM DRB at the SS side

    f_EUTRA_CellConfig_Def (eutra_Cell1);

    // Preamble to enter UE in E-UTRA RRC_IDLE (state 2)

    f_EUTRA_Preamble (eutra_Cell1, STATE2A_TESTLOOP_ModeA);

    //set null AS ciphering algorithm

    f_EUTRA_AS_CipheringAlgorithm_Set(eea0);

    //entering UE test state 3, default values with BSR and PHR disabled

    f_EUTRA_RbEst_Def_DisableBSR_PHR(eutra_Cell1);

    // reconfigure DRB locally to set the required test mode AM mapped to TM

    f_EUTRA_SS_DRB1_ConfigAM_TM_Mode(eutra_Cell1);

    //closing the test loop (mode A), entering state 4

    f_EUTRA_CloseUE_TestLoopModeA(eutra_Cell1, cs_UE_TestLoopModeA_LB_Setup_1DRB (v_RLC_Rec.UL_PDCP_SDU_size * 8, tsc_DRB1));

    f_EUTRA_TestBody_Set(true, layer2);  // @sic R5-100050 sic@

    f_EUTRA_HarqErrorHandling_Set(raiseInconc);

    fl_EUTRA_7_2_3_18_TestBody (v_RLC_Rec);

    f_EUTRA_HarqErrorHandling_Set(ignore);

    f_EUTRA_TestBody_Set(false);

    // assigning the default grant again

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    // leaving UE test state 4

    //@sic R5-103847 Deactivate test loop and open test loop is removed sic@

    // postamble

    f_EUTRA_Postamble (eutra_Cell1, E3_TESTMODE);

  } // f_TC_7_2_3_18_EUTRA

  function fl_EUTRA_7_2_3_18_TestBody(inout RLC_SS_State p_RLC_Rec)

    runs on EUTRA_PTC

  { // @sic R5s100279 sic@ @sic R5-105016 sic@

    var integer i;

    var RLC_DataField_Type v_RLC_Data1;

    var RLC_DataField_Type v_RLC_Data2;

    var RLC_DataField_Type v_RLC_Data3;

    var integer v_SDU_Size := 98;

    var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;

    var template (value) RLC_Status_NACK_List_Type  v_NACK_List;

    var template (value) RLC_Status_NACK_List_Type  v_NACK_List1;

    var template (present) RLC_Status_Padding_Type v_Padding_3bits_Any := '???'B;

    var template (present) RLC_Status_Padding_Type v_Padding_5bits_Any := '?????'B;

    var template (present) RLC_Status_Padding_Type v_Padding_7bits_Any := '???????'B;

    var RLC_DataField_Type v_AMD_SDUs3And4;

    var RLC_DataField_Type v_AMD_SDUs8To10;

    var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode;

    var DRB_COMMON_IND v_ReceivedAsp;

    var SubFrameTiming_Type v_Timing;

    var integer v_SubframeOffset;
    // determine RAT to make the timing correct later on

    v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);

    // PDCP SDUs of size 98 will be built, appended to a PDCP header,

    // and then used as RLC SDUs

    // generate 10 RLC SDUs = PDCP PDUs

    for (i := 0; i < 10; i:= i + 1) {

      p_RLC_Rec.TxDataSize := v_SDU_Size;

      f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data

      v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12 ), p_RLC_Rec.RLC_Data);

      p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));

      p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);

    }

    //@siclog "Step 1" siclog@

    // The SS transmits an AMD PDU containing the first half (50 bytes) of SDU#1 in its data field.

    // This PDU is in error (SN falls outside of the receiving window) and is to be discarded by the UE.

    p_RLC_Rec.AM_VTS := p_RLC_Rec.AM_VTS + tsc_AM_Window_Size + 3;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 0, 50);

    f_TxAMD_OnePDU (p_RLC_Rec,

                    cs_TimingInfo_Now,

                    tsc_P_NoPoll,

                    tsc_FI_StartOfSDU,

                    v_RLC_Data1);

    //@siclog "Step 2" siclog@

    // The SS transmits an AMD PDU containing SDU#2 (100 bytes) in its data field with the P-bit set.

    p_RLC_Rec.AM_VTS := 1;

    f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_Poll, tsc_RLC_SDU2);

    //@siclog "Step 3" siclog@

    // The UE transmits a STATUS PDU with NACK_SN field indicating missing PDU#1.

    p_RLC_Rec.AM_VTA := 2;

    v_NACK_List := cr_NACK_List (0, tsc_E2_NoSO_Follows, omit);

    f_RxSTATUS_PDU_NACK(p_RLC_Rec, v_NACK_List, v_Padding_5bits_Any);

    //@siclog "Step 3A" siclog@

    // The SS does not allocate any uplink grant.

    // from now on everything is scheduled ...

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now);

    //@siclog "Step 4" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#1 (AMD PDU#1 carries SDU#1) containing the

    // first 50 bytes of SDU#1 in its data field. SO=0 and LSF=0. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 0;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(p_RLC_Rec.TimeStampLastReceivedPDU, 100);  // @sic R5s110019, R5s110474 sic@

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 0, 50);

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_NoPoll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);

    //@siclog "Step 5" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#1 (AMD PDU#1 carries SDU#1) containing the last

    // 50 bytes of SDU#1 in its data field with the P-bit set. SO=50 and LSF=1. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 0;

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 50, 50);

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        50,

                        v_RLC_Data1);

    //@siclog "Step 5A" siclog@

    // SS waits for 60 ms to ensure UE RLC has all the required SDUs available in UL for loopback and then assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   9, 25);

    //@siclog "Step 6" siclog@

    // Check: Does the UE transmit a STATUS PD     with ACK_SN=2, thus acknowledging the reception of

    // PDUs with SN=0 and SN=1, and  no NACK_SN provided ?

    p_RLC_Rec.AM_VTA := 2;

    // receive STATUS PDU + DATA PDU in the same TTI, thus in a list

    DRB.receive (car_DRB1_RLCAmStatusAndDataInd( eutra_Cell1,

                                                 ?,

                                                 ?)) -> value v_ReceivedAsp;

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[0].Status,

               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )))

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 6");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 6");

      }

    //@siclog "Step 7" siclog@

    // Check: Does the UE transmit RLC SDU#1?

    v_RLC_Data1 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1];

    v_RLC_Data2 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU2];

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[1].AMD,

               cr_AMD_PDU_LIs (p_RLC_Rec.AM_VRR,

                               tsc_P_Poll,

                               tsc_FI_FullSDU,

                               cr_FlexPart_1LI (100),

                               {v_RLC_Data1, v_RLC_Data2})))

      {

        p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 7");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 7");

      }

    //@siclog "Step 8 void" siclog@

    //@siclog "Step 8A" siclog@ Send STATUS PDU upon Pollbit.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 9" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#3 (AMD PDU#3 carries SDU#3 and SDU#4) containing the last

    // 50 bytes of SDU#4 in its data field, with the P-bit set. FI=10, SO=150 and LSF=1. No header extension part is provided.

    v_AMD_SDUs3And4 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3] & p_RLC_Rec.RLC_DataList[tsc_RLC_SDU4];

    p_RLC_Rec.AM_VTS := 2;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 100);  // @sic R5s110019, R5s110474 sic@

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (v_AMD_SDUs3And4, 150, 50);

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        150,

                        v_RLC_Data1);

    //@siclog "Step 9A" siclog@

    // 100 ms after step 9  the SS assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 100 );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   9, 25);

    //@siclog "Step 10" siclog@

    // The UE transmits a STATUS PDU NACK_SN field for receipt of PDU#3.

    p_RLC_Rec.AM_VTA := 3;

    v_NACK_List := cr_NACK_List (2,

                                 tsc_E2_SO_Follows,

                                 cr_Status_SO(int2bit(0, tsc_AM_SO_Size), int2bit(149, tsc_AM_SO_Size)));

    f_RxSTATUS_PDU_NACK(p_RLC_Rec, v_NACK_List, v_Padding_7bits_Any);

    //@siclog "Step 11" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#3 (AMD PDU#3 carries SDU#3 and SDU#4) containing SDU#3 (100 bytes)

    // and the first 50 bytes of SDU#4 in its data field, with the P-bit set. FI=01, SO=0 and LSF=0.

    // Header extension part present: E in fixed part header=1, E in extension part header=0, LI=100.

    p_RLC_Rec.AM_VTS := 2;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(p_RLC_Rec.TimeStampLastReceivedPDU, 100);  // @sic R5s110019, R5s110474 sic@

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (v_AMD_SDUs3And4, 0, 100);

    v_RLC_Data2 := substr (v_AMD_SDUs3And4, 100, 50);

    f_TxAMD_SegList (p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_Poll,

                     tsc_FI_StartOfSDU,

                     tsc_LSF_NotLast,

                     0,

                     {v_RLC_Data1, v_RLC_Data2});

    //@siclog "Step 11A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available in UL for loopback and then assigns one default grant

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   9, 25);

    //@siclog "Step 12" siclog@

    // Check: Does the UE transmit a STATUS PDU with ACK_SN=3?

    p_RLC_Rec.AM_VTA := 3;

    // receive STATUS PDU + DATA PDU in the same TTI, thus in a list

    DRB.receive (car_DRB1_RLCAmStatusAndDataInd( eutra_Cell1,

                                                 ?,

                                                 ?)) -> value v_ReceivedAsp;

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[0].Status,

               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )))

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 12");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 12");

      }

    //@siclog "Step 13 void" siclog@

    //@siclog "Step 14" siclog@

    // Check: Does the UE transmit RLC SDU#4?

    v_RLC_Data1 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3];

    v_RLC_Data2 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU4];

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[1].AMD,

               cr_AMD_PDU_LIs (p_RLC_Rec.AM_VRR,

                               tsc_P_Poll,

                               tsc_FI_FullSDU,

                               cr_FlexPart_1LI (100),

                               {v_RLC_Data1, v_RLC_Data2})))

      {

        p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 14");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 14");

      }

    //@siclog "Step 14A" siclog@

    // Send STATUS PDU upon Pollbit.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 15" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#4 (AMD PDU#4 carries SDU#5) containing the

    // first 50 bytes of SDU#5 in its data field. SO=0 and LSF=0. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 3;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 100);  // @sic R5s110019, R5s110474 sic@

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], 0, 50);

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_NoPoll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);

    //@siclog "Step 16" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#4 (AMD PDU#4 carries SDU#5) containing the

    // first 50 bytes of SDU#5 in its data field. SO=0 and LSF=0. No header extension part is provided.

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
    DRB.send (cas_DRB1_RLCAmDataReq (eutra_Cell1,

                                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                     p_RLC_Rec.AMD_PDU));

    //@siclog "Step 17" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#4 (AMD PDU#4 carries SDU#5) containing the last

    // 50 bytes of SDU#5 in its data field, with the P-bit set. SO=50 and LSF=1. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 3;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], 50, 50);

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);
    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        50,

                        v_RLC_Data1);

    //@siclog "Step 17A" siclog@

    // SS waits for 60 ms to ensure UE RLC has all the required SDUs available in UL for loopback and then assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   9, 25);

    //@siclog "Step 18" siclog@

    // Check: Does the UE transmit a STATUS PDU with  ACK_SN=4, thus acknowledging the reception of

    // PDUs with SN=0 to SN=3, and no NACK_SN provided ?

    p_RLC_Rec.AM_VTA := 4;

    // receive STATUS PDU + DATA PDU in the same TTI, thus in a list

    DRB.receive (car_DRB1_RLCAmStatusAndDataInd( eutra_Cell1,

                                                 ?,

                                                 ?)) -> value v_ReceivedAsp;

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[0].Status,

               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )))

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 18");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 18");

      }

    //@siclog "Step 19" siclog@

    // Check: Does the UE transmit RLC SDU#5?

    v_RLC_Data1 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5];

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[1].AMD,

               cr_AMD_PDU_NoLIs (p_RLC_Rec.AM_VRR,

                                 tsc_P_Poll,

                                 tsc_FI_FullSDU,

                                 {v_RLC_Data1})))

      {

        p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 19");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 19");

      }

    //@siclog "Step 19A" siclog@

    // Send STATUS PDU upon Pollbit.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 20" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#6 (AMD PDU#6 carries SDU#7) containing the

    // last 50 bytes of SDU#7 in its data field, with the P-bit set. This AMD PDU segment is sent with SN 5.

    // SO=50 and LSF=1. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 5;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 100);  // @sic R5s110019, R5s110474 sic@

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU7], 50, 50);

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5s110201, R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        50,

                        v_RLC_Data1);

    //@siclog "Step 20A" siclog@

    // 100 ms after step 20 the SS assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 100 );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   9, 25);

    //@siclog "Step 21" siclog@

    // Check: Does the UE transmit a STATUS PDU with ACK_SN=6, thus acknowledging the reception of PDUs

    // with SN=0 to SN=5, and NACK_SN=4, E1/E2 field for receipt of PDU#5 and NACK_SN=5,SOStart=0/SOEnd=49 for

    // segment 1 of PDU#6?

    p_RLC_Rec.AM_VTA := 6;

    v_NACK_List := cr_NACK_List_2NACKs(4,

                                       tsc_E2_SO_Follows,

                                       cr_Status_SO(int2bit(0, tsc_AM_SO_Size), tsc_SO_Special),

                                       5,

                                       tsc_E2_SO_Follows,

                                       cr_Status_SO(int2bit(0, tsc_AM_SO_Size), int2bit(49, tsc_AM_SO_Size)));

    v_NACK_List1 := cr_NACK_List_2NACKs(4,

                                        tsc_E2_NoSO_Follows,

                                        omit,

                                        5,

                                        tsc_E2_SO_Follows,

                                        cr_Status_SO(int2bit(0, tsc_AM_SO_Size), int2bit(49, tsc_AM_SO_Size)));

    alt {

      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                 v_NACK_List,

                                                                 v_Padding_5bits_Any) ) ) -> value v_ReceivedAsp

        {

          f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 21");

        }

      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                 v_NACK_List1,

                                                                 v_Padding_3bits_Any) ) ) -> value v_ReceivedAsp

        {

          f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 21");

        }

    } // alt

    p_RLC_Rec.AM_VTA := (p_RLC_Rec.AM_VTA + 1) mod 1024;

    //@siclog "Step 22" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#6 (AMD PDU#6 carries SDU#7) containing the

    // first 50 bytes of SDU#7 in its data field. SO=0 and LSF=0. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 5;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 100);  // @sic R5s110019, R5s110474 sic@

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU7], 0, 50);

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_NoPoll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);

    //@siclog "Step 23" siclog@

    // The SS transmits one AMD PDU containing SDU#6 (100 bytes) in its data field, with the P-bit set.

    p_RLC_Rec.AM_VTS := 4;

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_Poll,

                 tsc_RLC_SDU6);

    //@siclog "Step 23A" siclog@

    // SS waits for 60 ms to ensure UE RLC has all the required SDUs available in UL for loopback and then assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   9, 25);

    //@siclog "Step 24" siclog@

    // The UE transmits a STATUS PDU with ACK_SN=6, thus acknowledging the reception of PDUs with SN=0 to SN=5

    p_RLC_Rec.AM_VTA := 6;

    // receive STATUS PDU + DATA PDU in the same TTI, thus in a list

    DRB.receive (car_DRB1_RLCAmStatusAndDataInd( eutra_Cell1,

                                                 ?,

                                                 ?)) -> value v_ReceivedAsp;

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[0].Status,

               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )))

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 24");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 24");

      }

    //@siclog "Step 25" siclog@

    // The UE transmits RLC SDU#6.

    v_RLC_Data1 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU6];

    //@siclog "Step 26" siclog@

    // Check: Does the UE transmit RLC SDU#7?

    v_RLC_Data2 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU7];

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[1].AMD,

               cr_AMD_PDU_LIs (p_RLC_Rec.AM_VRR,

                               tsc_P_Poll,

                               tsc_FI_FullSDU,

                               cr_FlexPart_1LI (100),

                               {v_RLC_Data1, v_RLC_Data2})))

      {

        p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 26");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 26");

      }

    //@siclog "Step 26A" siclog@

    // Send STATUS PDU upon Pollbit.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 27" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#7 (AMD PDU#7 carries SDU#8, SDU#9 and SDU#10) containing the

    // last 20 bytes of SDU#9 and the complete SDU#10 (100 bytes) in its data field, with the P-bit set. FI=10, SO=180 and LSF=1.

    // Header extension part present: E in fixed part header=1, E in extension part header=0, LI=20.

    p_RLC_Rec.AM_VTS := 6;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 100);  // @sic R5s110019, R5s110474 sic@

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_AMD_SDUs8To10 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU8]

      & p_RLC_Rec.RLC_DataList[tsc_RLC_SDU9]

      & p_RLC_Rec.RLC_DataList[tsc_RLC_SDU10];

    v_RLC_Data1 := substr (v_AMD_SDUs8To10, 180, 20);

    v_RLC_Data2 := substr (v_AMD_SDUs8To10, 200, 100);

    f_TxAMD_SegList (p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_Poll,

                     tsc_FI_EndOfSDU,

                     tsc_LSF_Last,

                     180,

                     {v_RLC_Data1, v_RLC_Data2});

    //@siclog "Step 27A" siclog@

    // 100 ms after step 27 the SS assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 100 );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   9, 25);

    //@siclog "Step 28" siclog@

    // The UE transmits a STATUS PDU NACK_SN field for receipt of PDU#7.

    p_RLC_Rec.AM_VTA := 7;

    v_NACK_List := cr_NACK_List (6,

                                 tsc_E2_SO_Follows,

                                 cr_Status_SO(int2bit(0, tsc_AM_SO_Size), int2bit(179, tsc_AM_SO_Size)));

    f_RxSTATUS_PDU_NACK(p_RLC_Rec, v_NACK_List, v_Padding_7bits_Any);

    //@siclog "Step 29" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#7 (AMD PDU#7 carries SDU#8, SDU#9 and SDU#10) containing the

    // last 20 bytes of SDU#8 and the complete SDU#9 in its data field, with the P-bit set. FI=10, SO=80 and LSF=0.

    // Header extension part present: E in fixed part header=1, E in extension part header=0, LI=20.

    p_RLC_Rec.AM_VTS := 6;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(p_RLC_Rec.TimeStampLastReceivedPDU, 100);  // @sic R5s110019, R5s110474 sic@

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (v_AMD_SDUs8To10, 80, 20);

    v_RLC_Data2 := substr (v_AMD_SDUs8To10, 100, 100);

    f_TxAMD_SegList (p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_Poll,

                     tsc_FI_EndOfSDU,

                     tsc_LSF_NotLast,

                     80,

                     {v_RLC_Data1, v_RLC_Data2});

    //@siclog "Step 29A" siclog@

    // 30 ms after step 29 the SS assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 30); // @sic R5-106564 sic@

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   9, 25);

    //@siclog "Step 31" siclog@

    // 60 ms after step 29 the SS transmits an AMD PDU segment of AMD PDU#7 (AMD PDU#7 carries SDU#8, SDU#9 and SDU#10) containing the

    // first 80 bytes of SDU#8 in its data field, with the P-bit set. SO=0 and LSF=0. No header extension part is provided.

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 30);  // @sic R5s100538 sic@@sic R5s110008 sic@

    p_RLC_Rec.AM_VTS := 6;

    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (v_AMD_SDUs8To10, 0, 80);

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number),  // @sic R5s110201 sic@ @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);

    //@siclog "Step 31A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns one default UL grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   9, 25);

    //@siclog "Step 30" siclog@

    // The UE transmits a STATUS PDU NACK_SN field for receipt of PDU#7.

    p_RLC_Rec.AM_VTA := 7;

    v_NACK_List := cr_NACK_List (6,

                                 tsc_E2_SO_Follows,

                                 cr_Status_SO(int2bit(0, tsc_AM_SO_Size), int2bit(79, tsc_AM_SO_Size)));

    f_RxSTATUS_PDU_NACK (p_RLC_Rec, v_NACK_List, v_Padding_7bits_Any);

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 30");

    //@siclog "Step 32" siclog@

    // Check: Does the UE transmit a STATUS PDU with  ACK_SN=7, thus acknowledging the reception of PDUs with SN=0 to SN=6,

    // and no NACK_SN provided ?

    p_RLC_Rec.AM_VTA := 7;

    // receive STATUS PDU + DATA PDU in the same TTI, thus in a list

    DRB.receive (car_DRB1_RLCAmStatusAndDataInd( eutra_Cell1,

                                                 ?,

                                                 ?)) -> value v_ReceivedAsp;

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[0].Status,

               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )))

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 32");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 32");

      }

    //@siclog "Step 33 void" siclog@

    //@siclog "Step 34 void" siclog@

    //@siclog "Step 35" siclog@

    // Check: Does the UE transmit RLC SDU#8, RLC SDU#9 and RLC SDU#10?

    v_RLC_Data1 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU8];

    v_RLC_Data2 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU9];

    v_RLC_Data3 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU10];

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[1].AMD,

               cr_AMD_PDU_LIs (p_RLC_Rec.AM_VRR,

                               tsc_P_Poll,

                               tsc_FI_FullSDU,

                               cr_FlexPart_2LIs (100, 100),

                               {v_RLC_Data1, v_RLC_Data2, v_RLC_Data3})))

      {

        p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 35");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 35");

      }

    //@siclog "Step 36" siclog@

    // Send STATUS PDU upon Pollbit.

    f_TxSTATUS_PDU(p_RLC_Rec);

  } // fl_EUTRA_7_2_3_18_TestBody

…


After change
	…

  function f_TC_7_2_3_18_EUTRA()

    runs on EUTRA_PTC

  { // @sic R5s100039 sic@

    var RLC_SS_State v_RLC_Rec;

    //EUTRA initialisation

    f_EUTRA_Init(c1);

    //RLC global initialisation

    f_InitRLC_Record(v_RLC_Rec, AM_Mode);

    //RLC test case specific initialisation

    v_RLC_Rec.UL_PDCP_SDU_size := 32; // @sic R5-174485 sic@

    // Cell configuration, with one AM DRB at the SS side

    f_EUTRA_CellConfig_Def (eutra_Cell1);

    // Preamble to enter UE in E-UTRA RRC_IDLE (state 2)

    f_EUTRA_Preamble (eutra_Cell1, STATE2A_TESTLOOP_ModeA);

    //set null AS ciphering algorithm

    f_EUTRA_AS_CipheringAlgorithm_Set(eea0);

    //entering UE test state 3, default values with BSR and PHR disabled

    f_EUTRA_RbEst_Def_DisableBSR_PHR(eutra_Cell1);

    // reconfigure DRB locally to set the required test mode AM mapped to TM

    f_EUTRA_SS_DRB1_ConfigAM_TM_Mode(eutra_Cell1);

    //closing the test loop (mode A), entering state 4

    f_EUTRA_CloseUE_TestLoopModeA(eutra_Cell1, cs_UE_TestLoopModeA_LB_Setup_1DRB (v_RLC_Rec.UL_PDCP_SDU_size * 8, tsc_DRB1));

    f_EUTRA_TestBody_Set(true, layer2);  // @sic R5-100050 sic@

    f_EUTRA_HarqErrorHandling_Set(raiseInconc);

    fl_EUTRA_7_2_3_18_TestBody (v_RLC_Rec);

    f_EUTRA_HarqErrorHandling_Set(ignore);

    f_EUTRA_TestBody_Set(false);

    // assigning the default grant again

    f_EUTRA_StartDefULGrantTransmission(eutra_Cell1);

    // leaving UE test state 4

    //@sic R5-103847 Deactivate test loop and open test loop is removed sic@

    // postamble

    f_EUTRA_Postamble (eutra_Cell1, E3_TESTMODE);

  } // f_TC_7_2_3_18_EUTRA

  function fl_EUTRA_7_2_3_18_TestBody(inout RLC_SS_State p_RLC_Rec)

    runs on EUTRA_PTC

  { // @sic R5s100279 sic@ @sic R5-105016 sic@

    var integer i;

    var RLC_DataField_Type v_RLC_Data1;

    var RLC_DataField_Type v_RLC_Data2;

    var RLC_DataField_Type v_RLC_Data3;

    var integer v_SDU_Size := 32; // @sic R5-174485 sic@

    var template (value) PDCP_DataPdu_LongSN_Type v_PDCP_DataPDU;

    var template (value) RLC_Status_NACK_List_Type  v_NACK_List;

    var template (value) RLC_Status_NACK_List_Type  v_NACK_List1;

    var template (present) RLC_Status_Padding_Type v_Padding_3bits_Any := '???'B;

    var template (present) RLC_Status_Padding_Type v_Padding_5bits_Any := '?????'B;

    var template (present) RLC_Status_Padding_Type v_Padding_7bits_Any := '???????'B;

    var RLC_DataField_Type v_AMD_SDUs3And4;

    var RLC_DataField_Type v_AMD_SDUs8To10;

    var EUTRA_FDD_TDD_Mode_Type  v_EUTRA_FDD_TDD_Mode;

    var DRB_COMMON_IND v_ReceivedAsp;

    var SubFrameTiming_Type v_Timing;

    var integer v_SubframeOffset := 4; // @sic R5s170572 cat M1 timing sic@

    // determine RAT to make the timing correct later on

    v_EUTRA_FDD_TDD_Mode := f_EUTRA_CellInfo_GetFDD_TDD (eutra_Cell1);

    // PDCP SDUs of size 32 will be built, appended to a PDCP header,

    // and then used as RLC SDUs

    // generate 10 RLC SDUs = PDCP PDUs

    for (i := 0; i < 10; i:= i + 1) {

      p_RLC_Rec.TxDataSize := v_SDU_Size;

      f_GetTxAM_PRBS (p_RLC_Rec);  // sets p_RLC_Rec.RLC_Data

      v_PDCP_DataPDU := cs_PDCP_DataPdu_LongSN(int2bit(i, tsc_PDCP_SN_Size_12 ), p_RLC_Rec.RLC_Data);

      p_RLC_Rec.RLC_DataList[i] := f_PDCP_PDU_Encvalue (cs_PDCP_PDU_LongSN(v_PDCP_DataPDU));

      p_RLC_Rec.Next_PDCP_TX_SN := (p_RLC_Rec.Next_PDCP_TX_SN + 1) mod (tsc_Maximum_PDCP_SN_12 + 1);

    }

    //@siclog "Step 1" siclog@

    // The SS transmits an AMD PDU containing the first half (17 bytes) of SDU#1 in its data field.

    // This PDU is in error (SN falls outside of the receiving window) and is to be discarded by the UE.

    p_RLC_Rec.AM_VTS := p_RLC_Rec.AM_VTS + tsc_AM_Window_Size + 3;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 0, 17); // @sic R5-174485 sic@

    f_TxAMD_OnePDU (p_RLC_Rec,

                    cs_TimingInfo_Now,

                    tsc_P_NoPoll,

                    tsc_FI_StartOfSDU,

                    v_RLC_Data1);

    //@siclog "Step 2" siclog@

    // The SS transmits an AMD PDU containing SDU#2 (34 bytes) in its data field with the P-bit set.

    p_RLC_Rec.AM_VTS := 1;

    f_TxAMD_SDU(p_RLC_Rec, cs_TimingInfo_Now, tsc_P_Poll, tsc_RLC_SDU2);

    //@siclog "Step 3" siclog@

    // The UE transmits a STATUS PDU with NACK_SN field indicating missing PDU#1.

    p_RLC_Rec.AM_VTA := 2;

    v_NACK_List := cr_NACK_List (0, tsc_E2_NoSO_Follows, omit);

    f_RxSTATUS_PDU_NACK(p_RLC_Rec, v_NACK_List, v_Padding_5bits_Any);

    //@siclog "Step 3A" siclog@

    // The SS does not allocate any uplink grant.

    // from now on everything is scheduled ...

    f_EUTRA_StopULGrantTransmission_PUCCH_Sync(eutra_Cell1, cs_TimingInfo_Now);

    //@siclog "Step 4" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#1 (AMD PDU#1 carries SDU#1) containing the

    // first 17 bytes of SDU#1 in its data field. SO=0 and LSF=0. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 0;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(p_RLC_Rec.TimeStampLastReceivedPDU, 100);  // @sic R5s110019, R5s110474 sic@

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 0, 17); // @sic R5-174485 sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_NoPoll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);

    //@siclog "Step 5" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#1 (AMD PDU#1 carries SDU#1) containing the last

    // 17 bytes of SDU#1 in its data field with the P-bit set. SO=17 and LSF=1. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 0;

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1], 17, 17); // @sic R5-174485 sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        17, // @sic R5-174485 sic@

                        v_RLC_Data1);

    //@siclog "Step 5A" siclog@

    // SS waits for 60 ms to ensure UE RLC has all the required SDUs available in UL for loopback and then assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   14, 4); // @sic R5-174485 sic@ grant issue

    //@siclog "Step 6" siclog@

    // Check: Does the UE transmit a STATUS PD     with ACK_SN=2, thus acknowledging the reception of

    // PDUs with SN=0 and SN=1, and  no NACK_SN provided ?

    p_RLC_Rec.AM_VTA := 2;

    // receive STATUS PDU + DATA PDU in the same TTI, thus in a list

    DRB.receive (car_DRB1_RLCAmStatusAndDataInd( eutra_Cell1,

                                                 ?,

                                                 ?)) -> value v_ReceivedAsp;

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[0].Status,

               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )))

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 6");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 6");

      }

    //@siclog "Step 7" siclog@

    // Check: Does the UE transmit RLC SDU#1?

    v_RLC_Data1 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU1];

    v_RLC_Data2 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU2];

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[1].AMD,

               cr_AMD_PDU_LIs (p_RLC_Rec.AM_VRR,

                               tsc_P_Poll,

                               tsc_FI_FullSDU,

                               cr_FlexPart_1LI (34), // @sic R5-174485 sic@

                               {v_RLC_Data1, v_RLC_Data2})))

      {

        p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 7");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 7");

      }

    //@siclog "Step 8 void" siclog@

    //@siclog "Step 8A" siclog@ Send STATUS PDU upon Pollbit.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 9" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#3 (AMD PDU#3 carries SDU#3 and SDU#4) containing the last

    // 17 bytes of SDU#4 in its data field, with the P-bit set. FI=10, SO=51 and LSF=1. No header extension part is provided.

    v_AMD_SDUs3And4 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3] & p_RLC_Rec.RLC_DataList[tsc_RLC_SDU4];

    p_RLC_Rec.AM_VTS := 2;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 100);  // @sic R5s110019, R5s110474 sic@

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (v_AMD_SDUs3And4, 51, 17); // @sic R5-174485 sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        51, // @sic R5-174485 sic@

                        v_RLC_Data1);

    //@siclog "Step 9A" siclog@

    // 100 ms after step 9  the SS assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 100 );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   14, 4); // @sic R5-174485 sic@ grant issue

    //@siclog "Step 10" siclog@

    // The UE transmits a STATUS PDU NACK_SN field for receipt of PDU#3.

    p_RLC_Rec.AM_VTA := 3;

    v_NACK_List := cr_NACK_List (2,

                                 tsc_E2_SO_Follows,

                                 cr_Status_SO(int2bit(0, tsc_AM_SO_Size), int2bit(50, tsc_AM_SO_Size))); // @sic R5-174485 sic@

    f_RxSTATUS_PDU_NACK(p_RLC_Rec, v_NACK_List, v_Padding_7bits_Any);

    //@siclog "Step 11" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#3 (AMD PDU#3 carries SDU#3 and SDU#4) containing SDU#3 (34 bytes)

    // and the first 17 bytes of SDU#4 in its data field, with the P-bit set. FI=01, SO=0 and LSF=0.

    // Header extension part present: E in fixed part header=1, E in extension part header=0, LI=34.

    p_RLC_Rec.AM_VTS := 2;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(p_RLC_Rec.TimeStampLastReceivedPDU, 100);  // @sic R5s110019, R5s110474 sic@

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (v_AMD_SDUs3And4, 0, 34); // @sic R5-174485 sic@

    v_RLC_Data2 := substr (v_AMD_SDUs3And4, 34, 17); // @sic R5-174485 sic@

    f_TxAMD_SegList (p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_Poll,

                     tsc_FI_StartOfSDU,

                     tsc_LSF_NotLast,

                     0,

                     {v_RLC_Data1, v_RLC_Data2});

    //@siclog "Step 11A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available in UL for loopback and then assigns one default grant

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   14, 4); // @sic R5-174485 sic@ grant issue

    //@siclog "Step 12" siclog@

    // Check: Does the UE transmit a STATUS PDU with ACK_SN=3?

    p_RLC_Rec.AM_VTA := 3;

    // receive STATUS PDU + DATA PDU in the same TTI, thus in a list

    DRB.receive (car_DRB1_RLCAmStatusAndDataInd( eutra_Cell1,

                                                 ?,

                                                 ?)) -> value v_ReceivedAsp;

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[0].Status,

               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )))

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 12");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 12");

      }

    //@siclog "Step 13 void" siclog@

    //@siclog "Step 14" siclog@

    // Check: Does the UE transmit RLC SDU#4?

    v_RLC_Data1 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU3];

    v_RLC_Data2 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU4];

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[1].AMD,

               cr_AMD_PDU_LIs (p_RLC_Rec.AM_VRR,

                               tsc_P_Poll,

                               tsc_FI_FullSDU,

                               cr_FlexPart_1LI (34), // @sic R5-174485 sic@

                               {v_RLC_Data1, v_RLC_Data2})))

      {

        p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 14");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 14");

      }

    //@siclog "Step 14A" siclog@

    // Send STATUS PDU upon Pollbit.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 15" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#4 (AMD PDU#4 carries SDU#5) containing the

    // first 17 bytes of SDU#5 in its data field. SO=0 and LSF=0. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 3;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 100);  // @sic R5s110019, R5s110474 sic@

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], 0, 17); // @sic R5-174485 sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_NoPoll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);

    //@siclog "Step 16" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#4 (AMD PDU#4 carries SDU#5) containing the

    // first 17 bytes of SDU#5 in its data field. SO=0 and LSF=0. No header extension part is provided.

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@
    DRB.send (cas_DRB1_RLCAmDataReq (eutra_Cell1,

                                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                                     p_RLC_Rec.AMD_PDU));

    //@siclog "Step 17" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#4 (AMD PDU#4 carries SDU#5) containing the last

    // 17 bytes of SDU#5 in its data field, with the P-bit set. SO=17 and LSF=1. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 3;

    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5], 17, 17); // @sic R5-174485 sic@

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 2);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        17, // @sic R5-174485 sic@

                        v_RLC_Data1);

    //@siclog "Step 17A" siclog@

    // SS waits for 60 ms to ensure UE RLC has all the required SDUs available in UL for loopback and then assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   14, 4); // @sic R5-174485 sic@ grant issue

    //@siclog "Step 18" siclog@

    // Check: Does the UE transmit a STATUS PDU with  ACK_SN=4, thus acknowledging the reception of

    // PDUs with SN=0 to SN=3, and no NACK_SN provided ?

    p_RLC_Rec.AM_VTA := 4;

    // receive STATUS PDU + DATA PDU in the same TTI, thus in a list

    DRB.receive (car_DRB1_RLCAmStatusAndDataInd( eutra_Cell1,

                                                 ?,

                                                 ?)) -> value v_ReceivedAsp;

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[0].Status,

               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )))

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 18");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 18");

      }

    //@siclog "Step 19" siclog@

    // Check: Does the UE transmit RLC SDU#5?

    v_RLC_Data1 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU5];

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[1].AMD,

               cr_AMD_PDU_NoLIs (p_RLC_Rec.AM_VRR,

                                 tsc_P_Poll,

                                 tsc_FI_FullSDU,

                                 {v_RLC_Data1})))

      {

        p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 19");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 19");

      }

    //@siclog "Step 19A" siclog@

    // Send STATUS PDU upon Pollbit.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 20" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#6 (AMD PDU#6 carries SDU#7) containing the

    // last 17 bytes of SDU#7 in its data field, with the P-bit set. This AMD PDU segment is sent with SN 5.

    // SO=17 and LSF=1. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 5;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 100);  // @sic R5s110019, R5s110474 sic@

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU7], 17, 17); // @sic R5-174485 sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5s110201, R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_EndOfSDU,

                        tsc_LSF_Last,

                        17, // @sic R5-174485 sic@

                        v_RLC_Data1);

    //@siclog "Step 20A" siclog@

    // 100 ms after step 20 the SS assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 100 );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   14, 4); // @sic R5-174485 sic@ grant issue

    //@siclog "Step 21" siclog@

    // Check: Does the UE transmit a STATUS PDU with ACK_SN=6, thus acknowledging the reception of PDUs

    // with SN=0 to SN=5, and NACK_SN=4, E1/E2 field for receipt of PDU#5 and NACK_SN=5,SOStart=0/SOEnd=16 for

    // segment 1 of PDU#6?

    p_RLC_Rec.AM_VTA := 6;

    v_NACK_List := cr_NACK_List_2NACKs(4,

                                       tsc_E2_SO_Follows,

                                       cr_Status_SO(int2bit(0, tsc_AM_SO_Size), tsc_SO_Special),

                                       5,

                                       tsc_E2_SO_Follows,

                                       cr_Status_SO(int2bit(0, tsc_AM_SO_Size), int2bit(16, tsc_AM_SO_Size))); // @sic R5-174485 sic@

    v_NACK_List1 := cr_NACK_List_2NACKs(4,

                                        tsc_E2_NoSO_Follows,

                                        omit,

                                        5,

                                        tsc_E2_SO_Follows,

                                        cr_Status_SO(int2bit(0, tsc_AM_SO_Size), int2bit(16, tsc_AM_SO_Size))); // @sic R5-174485 sic@

    alt {

      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                 v_NACK_List,

                                                                 v_Padding_5bits_Any) ) ) -> value v_ReceivedAsp

        {

          f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 21");

        }

      [] DRB.receive (car_DRB1_RLCStatusInd( eutra_Cell1,

                                             cr_STATUS_PDU_Nack( p_RLC_Rec.AM_VTA,

                                                                 v_NACK_List1,

                                                                 v_Padding_3bits_Any) ) ) -> value v_ReceivedAsp

        {

          f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 21");

        }

    } // alt

    p_RLC_Rec.AM_VTA := (p_RLC_Rec.AM_VTA + 1) mod 1024;

    //@siclog "Step 22" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#6 (AMD PDU#6 carries SDU#7) containing the

    // first 17 bytes of SDU#7 in its data field. SO=0 and LSF=0. No header extension part is provided.

    p_RLC_Rec.AM_VTS := 5;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 100);  // @sic R5s110019, R5s110474 sic@

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (p_RLC_Rec.RLC_DataList[tsc_RLC_SDU7], 0, 17); // @sic R5-174485 sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                        tsc_P_NoPoll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);

    //@siclog "Step 23" siclog@

    // The SS transmits one AMD PDU containing SDU#6 (34 bytes) in its data field, with the P-bit set.

    p_RLC_Rec.AM_VTS := 4;

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 1);

    v_Timing.SFN.Number := (v_Timing.SFN.Number +1) mod 1024;  // @sic R5s170572 cat M1 timing sic@
    f_TxAMD_SDU (p_RLC_Rec,

                 cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                 tsc_P_Poll,

                 tsc_RLC_SDU6);

    //@siclog "Step 23A" siclog@

    // SS waits for 60 ms to ensure UE RLC has all the required SDUs available in UL for loopback and then assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   14, 4); // @sic R5-174485 sic@ grant issue

    //@siclog "Step 24" siclog@

    // The UE transmits a STATUS PDU with ACK_SN=6, thus acknowledging the reception of PDUs with SN=0 to SN=5

    p_RLC_Rec.AM_VTA := 6;

    // receive STATUS PDU + DATA PDU in the same TTI, thus in a list

    DRB.receive (car_DRB1_RLCAmStatusAndDataInd( eutra_Cell1,

                                                 ?,

                                                 ?)) -> value v_ReceivedAsp;

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[0].Status,

               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )))

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 24");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 24");

      }

    //@siclog "Step 25" siclog@

    // The UE transmits RLC SDU#6.

    v_RLC_Data1 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU6];

    //@siclog "Step 26" siclog@

    // Check: Does the UE transmit RLC SDU#7?

    v_RLC_Data2 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU7];

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[1].AMD,

               cr_AMD_PDU_LIs (p_RLC_Rec.AM_VRR,

                               tsc_P_Poll,

                               tsc_FI_FullSDU,

                               cr_FlexPart_1LI (34), // @sic R5-174485 sic@

                               {v_RLC_Data1, v_RLC_Data2})))

      {

        p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 26");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 26");

      }

    //@siclog "Step 26A" siclog@

    // Send STATUS PDU upon Pollbit.

    f_TxSTATUS_PDU(p_RLC_Rec);

    //@siclog "Step 27" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#7 (AMD PDU#7 carries SDU#8, SDU#9 and SDU#10) containing the

    // last 8 bytes of SDU#9 and the complete SDU#10 (34 bytes) in its data field, with the P-bit set. FI=10, SO=60 and LSF=1.

    // Header extension part present: E in fixed part header=1, E in extension part header=0, LI=8.

    p_RLC_Rec.AM_VTS := 6;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(v_ReceivedAsp.Common.TimingInfo.SubFrame, 100);  // @sic R5s110019, R5s110474 sic@

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_AMD_SDUs8To10 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU8]

      & p_RLC_Rec.RLC_DataList[tsc_RLC_SDU9]

      & p_RLC_Rec.RLC_DataList[tsc_RLC_SDU10];

    v_RLC_Data1 := substr (v_AMD_SDUs8To10, 60, 8); // @sic R5-174485 sic@

    v_RLC_Data2 := substr (v_AMD_SDUs8To10, 68, 34); // @sic R5-174485 sic@

    f_TxAMD_SegList (p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_Poll,

                     tsc_FI_EndOfSDU,

                     tsc_LSF_Last,

                     60, // @sic R5-174485 sic@

                     {v_RLC_Data1, v_RLC_Data2});

    //@siclog "Step 27A" siclog@

    // 100 ms after step 27 the SS assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd( v_Timing, 100 );

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   14, 4); // @sic R5-174485 sic@ grant issue

    //@siclog "Step 28" siclog@

    // The UE transmits a STATUS PDU NACK_SN field for receipt of PDU#7.

    p_RLC_Rec.AM_VTA := 7;

    v_NACK_List := cr_NACK_List (6,

                                 tsc_E2_SO_Follows,

                                 cr_Status_SO(int2bit(0, tsc_AM_SO_Size), int2bit(59, tsc_AM_SO_Size))); // @sic R5-174485 sic@

    f_RxSTATUS_PDU_NACK(p_RLC_Rec, v_NACK_List, v_Padding_7bits_Any);

    //@siclog "Step 29" siclog@

    // The SS transmits an AMD PDU segment of AMD PDU#7 (AMD PDU#7 carries SDU#8, SDU#9 and SDU#10) containing the

    // last 8 bytes of SDU#8 and the complete SDU#9 in its data field, with the P-bit set. FI=10, SO=26 and LSF=0.

    // Header extension part present: E in fixed part header=1, E in extension part header=0, LI=8.

    p_RLC_Rec.AM_VTS := 6;

    v_Timing := f_EUTRA_TimingInfoAdjustAndAdd(p_RLC_Rec.TimeStampLastReceivedPDU, 100);  // @sic R5s110019, R5s110474 sic@

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (v_AMD_SDUs8To10, 26, 8); // @sic R5-174485 sic@

    v_RLC_Data2 := substr (v_AMD_SDUs8To10, 34, 34); // @sic R5-174485 sic@

    f_TxAMD_SegList (p_RLC_Rec,

                     cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number), // @sic R5w160204r1 sic@

                     tsc_P_Poll,

                     tsc_FI_EndOfSDU,

                     tsc_LSF_NotLast,

                     26, // @sic R5-174485 sic@

                     {v_RLC_Data1, v_RLC_Data2});

    //@siclog "Step 29A" siclog@

    // 30 ms after step 29 the SS assigns one default grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 30); // @sic R5-106564 sic@

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   14, 4); // @sic R5-174485 sic@ grant issue

    //@siclog "Step 31" siclog@

    // 60 ms after step 29 the SS transmits an AMD PDU segment of AMD PDU#7 (AMD PDU#7 carries SDU#8, SDU#9 and SDU#10) containing the

    // first 26 bytes of SDU#8 in its data field, with the P-bit set. SO=0 and LSF=0. No header extension part is provided.

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 30);  // @sic R5s100538 sic@@sic R5s110008 sic@

    p_RLC_Rec.AM_VTS := 6;

//    v_SubframeOffset := f_EUTRA_TimingInfoSubframeOffset(v_EUTRA_FDD_TDD_Mode, 0);
    v_RLC_Data1 := substr (v_AMD_SDUs8To10, 0, 26); // @sic R5-174485 sic@

    f_TxAMD_PDU_OneSeg (p_RLC_Rec,

                        cs_TimingInfo_SubFrameOffset(v_Timing.SFN.Number, v_SubframeOffset, v_Timing.HSFN.Number),  // @sic R5s110201 sic@ @sic R5w160204r1 sic@

                        tsc_P_Poll,

                        tsc_FI_StartOfSDU,

                        tsc_LSF_NotLast,

                        0,

                        v_RLC_Data1);

    //@siclog "Step 31A" siclog@

    // The SS waits for 60 ms to ensure UE RLC has all the required SDUs available and then assigns one default UL grant (UL grant allocation type 3).

    v_Timing := f_EUTRA_NB_TimingInfoAdd(v_Timing, 60);

    f_EUTRA_OneULGrantTransmission(eutra_Cell1,

                                   cs_TimingInfo(v_Timing),

                                   14, 4); // @sic R5-174485 sic@ grant issue

    //@siclog "Step 30" siclog@

    // The UE transmits a STATUS PDU NACK_SN field for receipt of PDU#7.

    p_RLC_Rec.AM_VTA := 7;

    v_NACK_List := cr_NACK_List (6,

                                 tsc_E2_SO_Follows,

                                 cr_Status_SO(int2bit(0, tsc_AM_SO_Size), int2bit(25, tsc_AM_SO_Size))); // @sic R5-174485 sic@

    f_RxSTATUS_PDU_NACK (p_RLC_Rec, v_NACK_List, v_Padding_7bits_Any);

    f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 30");

    //@siclog "Step 32" siclog@

    // Check: Does the UE transmit a STATUS PDU with  ACK_SN=7, thus acknowledging the reception of PDUs with SN=0 to SN=6,

    // and no NACK_SN provided ?

    p_RLC_Rec.AM_VTA := 7;

    // receive STATUS PDU + DATA PDU in the same TTI, thus in a list

    DRB.receive (car_DRB1_RLCAmStatusAndDataInd( eutra_Cell1,

                                                 ?,

                                                 ?)) -> value v_ReceivedAsp;

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[0].Status,

               cr_RLC_AM_StatusPDU_ACK_SN( p_RLC_Rec.AM_VTA )))

      {

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 32");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 32");

      }

    //@siclog "Step 33 void" siclog@

    //@siclog "Step 34 void" siclog@

    //@siclog "Step 35" siclog@

    // Check: Does the UE transmit RLC SDU#8, RLC SDU#9 and RLC SDU#10?

    v_RLC_Data1 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU8];

    v_RLC_Data2 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU9];

    v_RLC_Data3 := p_RLC_Rec.RLC_DataList[tsc_RLC_SDU10];

    if (match (v_ReceivedAsp.U_Plane.SubframeData.PduSduList.RlcPdu[1].AMD,

               cr_AMD_PDU_LIs (p_RLC_Rec.AM_VRR,

                               tsc_P_Poll,

                               tsc_FI_FullSDU,

                               cr_FlexPart_2LIs (34, 34), // @sic R5-174485 sic@

                               {v_RLC_Data1, v_RLC_Data2, v_RLC_Data3})))

      {

        p_RLC_Rec.AM_VRR := (p_RLC_Rec.AM_VRR + 1) mod 1024;

        f_EUTRA_PreliminaryPass(__FILE__, __LINE__, "Step 35");

      }

    else

      {

        f_EUTRA_SetVerdictFailOrInconc(__FILE__, __LINE__, "Step 35");

      }

    //@siclog "Step 36" siclog@

    // Send STATUS PDU upon Pollbit.

    f_TxSTATUS_PDU(p_RLC_Rec);

  } // fl_EUTRA_7_2_3_18_TestBody
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